



Name: \_\_\_\_\_

Date: \_\_\_\_\_ Score: \_\_\_\_\_

$$(-2)^{(-2)} - (-8) =$$

$$4^0 + (-2) =$$

$$10^{(-2)} + (-3) =$$

$$(-1)^0 - 6 =$$

$$7^{(-1)} + 9 =$$

$$(-5)^{(-2)} + 10 =$$

$$10^0 + 4 =$$

$$(-10) + 5 =$$

$$1^{(-1)} - (-5) =$$

$$(-10) - 8 =$$

$$10^2 + 7 =$$

$$10^{(-1)} - (-8) =$$

$$7^{(-1)} - (-9) =$$

$$6^2 - 9 =$$

$$9^{(-1)} - (-7) =$$

$$10^2 - 8 =$$

$$7^2 + 6 =$$

$$(-5)^2 + 1 =$$

$$6^2 - 7 =$$

$$(-6)^2 + 3 =$$



Name: \_\_\_\_\_

Date: \_\_\_\_\_ Score: \_\_\_\_\_

$$(-2)^{(-2)} - (-8) = \frac{33}{4} = 8\frac{1}{4}$$

$$4^0 + (-2) = (-1)$$

$$10^{(-2)} + (-3) = \left(-\frac{299}{100}\right) = \left(-2\frac{99}{100}\right)$$

$$(-1)^0 - 6 = (-5)$$

$$7^{(-1)} + 9 = \frac{64}{7} = 9\frac{1}{7}$$

$$(-5)^{(-2)} + 10 = \frac{251}{25} = 10\frac{1}{25}$$

$$10^0 + 4 = 5$$

$$(-10) + 5 = (-5)$$

$$1^{(-1)} - (-5) = 6$$

$$(-10) - 8 = (-18)$$

$$10^2 + 7 = 107$$

$$10^{(-1)} - (-8) = \frac{81}{10} = 8\frac{1}{10}$$

$$7^{(-1)} - (-9) = \frac{64}{7} = 9\frac{1}{7}$$

$$6^2 - 9 = 27$$

$$9^{(-1)} - (-7) = \frac{64}{9} = 7\frac{1}{9}$$

$$10^2 - 8 = 92$$

$$7^2 + 6 = 55$$

$$(-5)^2 + 1 = 26$$

$$6^2 - 7 = 29$$

$$(-6)^2 + 3 = 39$$